
SAP ABAP table BFIT_A0 {FI Subseq.BA/PC Adjustmnt: Zero Bal.Postings for Bus.Area}

BFIT_A0

MANDT [CLNT (3)]

BUKRS [CHAR (4)]

BELNR [CHAR (10)]

GJAHR [NUMC (4)]

AUZEI [NUMC (5)]

LAIDEI [NUMC (4)]

GSBER [CHAR (4)]

GSBERO [CHAR (4)]

WAERS [CUKY (5)]

BLART [CHAR (2)]

RF180

MANDT [CLNT (3)]

BUKRS [CHAR (4)]

AFTLF [NUMC (4)]

 BFIT_A0-LAIDEI = RF180-AFTLF 
0..N

0..N

T000

MANDT [CLNT (3)] BFIT_A0-MANDT = T000-MANDT 
0..N

0..N

T001

MANDT [CLNT (3)]

BUKRS [CHAR (4)] BFIT_A0-BUKRS = T001-BUKRS 0..N

0..N
T003

MANDT [CLNT (3)]

BLART [CHAR (2)]

 BFIT_A0-BLART = T003-BLART 
0..N{0,1}

TCURC

MANDT [CLNT (3)]

WAERS [CUKY (5)]

 BFIT_A0-WAERS = TCURC-WAERS 

0..N

{0,1}

TGSB

MANDT [CLNT (3)]

GSBER [CHAR (4)]

 BFIT_A0-GSBER = TGSB-GSBER 

0..N

0..N

 BFIT_A0-GSBERO = TGSB-GSBER 

0..N

0..N


